## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

\* Approx 140' S & 50' W of

\_ License No.:\_

East West

5214 API No. 15 - 101-21817-00 00 Operator: License #\_ Lario Oil & Gas Company County:\_\_\_ Lane Name: 301 S. Market Street W\_nw\_ne\_sw\_Sec. 29 Twp. 16 S. R. 30 ☐ East West Address: Wichita, KS 67207 City/State/Zip: . feet from (S) N (circle one) Line of Section 1600 Purchaser: \_ feet from E (W) (circle one) Line of Section Operator Contact Person: Jay G. Schweikert Footages Calculated from Nearest Outside Section Corner: Phone: (316) 265-5611 RECEIVED (circle one) NE Lease Name: Brand Trust Contractor: Name: L.D. Drilling, Inc. Field Name: wildcat 6039 NOV 1 2 2003 License: \_\_\_ David Goldak Wellsite Geologist: \_ Producing Formation:\_ KCC WICHITA Elevation: Ground: 2881 Kelly Bushing: 2886 Designate Type of Completion: New Well Re-Entry Total Depth: 4565 Plug Back Total Depth:\_ ..... Workover \_\_\_\_ SWD \_\_\_\_ SIOW \_\_\_ \_\_\_Temp. Abd. Amount of Surface Pipe Set and Cemented at 347 Feet \_\_\_ Gas \_\_\_\_ ENHR \_\_\_\_ SIGW Multiple Stage Cementing Collar Used? Yes No Dry Other (Core, WSW, Expl., Cathodic, etc) ONFIDE f yes, show depth set \_\_ If Workover/Re-entry: Old Well Info as follows: If Alternate II completion, cement circulated from\_\_\_\_\_ Operator: \_\_\_ feet depth to\_ Well Name: \_\_\_ Drilling Fluid Management Plan \_\_\_\_\_ Original Total Depth: \_\_\_ Original Comp. Date: \_\_\_\_ (Data must be collected from the Reserve Pit) .\_\_\_\_Re-perf. Deepening Conv. to Enhr./SWD \_ppm Fluid volume\_ \_ Plug Back\_\_ \_\_Plug Back Total Depth Dewatering method used\_ \_ Commingled Docket No.\_ Location of fluid disposal if hauled offsite: \_\_ Dual Completion Docket No.

INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells.

\_\_ Other (SWD or Enhr.?)

10/01/03

Spud Date or

Recompletion Date

Docket No.\_

10/09/03

Completion Date or

Recompletion Date

10/09/03

Date Reached TD

Operator Name:\_

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge. Signature: KCC Office Use ONLY Operations Engineer Title: Letter of Confidentiality Attached Subscribed and sworn to before me this 10 th November If Denied, "Yes Date:\_\_\_\_ KATHY L. FORD Wireline Log Received Notary Public - State of Kansas My Appt. Expires 10-22-06 Geologist Report Received **UIC Distribution** Date Commission Expires: \_\_

X

Operator Name:	Lario (	Oil & Gas	Company	Leas	se Name:_	Brand	Trust		_ Well #: _1-	29	
Sec. 29 Twp. 16	S R 30	East	✓ West	Cour		ane	de filling areas				
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowing very, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether along with	shut-in pre	essure i	eached :	static level, hydro	ostatic pressu	res, botton	n hole
Drill Stem Tests Taken (Attach Additional S	heets)	V Y	es No		VL	og	Formation	on (Top), Depth a			ample
Samples Sent to Geological Survey		Yes No			Nam	Name			Тор	D	atum
Cores Taken		□-Y	es 🗸 No		Lansing				3964	-1	1078
Electric Log Run (Submit Copy)			✓ Yes  No			Eansing "I"					1294
List All E. Logs Run:					Mari	maton	10 forest		4349	-1	1463
RAG-Sonic	,				Scott			4458		1572	
			,		Mis	sissipp	pian		4588	-1	1702
		Repo	CASING	RECORD	-		Used e, product	ion, etc.	,		The state of the s
Purpose of String	Size Hole	Siz	e Casing	W	eight .	Se	etting	Type of	# Sacks		nd Percent
	Drilled	Set	(In O.D.)	Lbs	s. / Ft.	D	epth	Cement	Used	Ad	Iditives
Surface	12-1/4"	8-5/8"		23		347	Z	Common	210	2% ge	I +3% CC
				J		8	Ų.				· · · · · · · · · · · · · · · · · · ·
		I	ADDITIONAL	T		JEEZE	RECORD	-			
Purpose:  Perforate Protect Casing	Depth Top Bottom	Type of Cement		#Sac	#Sacks Used		Type and Percent Additives				
Plug Back TD Plug Off Zone	v						S S				
						7	200 201		,		
Shots Per Foot	ON RECOF	N RECORD - Bridge Plugs Set/Type potage of Each Interval Perforated				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)  Depth					
								t			, ,
							4		HIVE Whatma a working of the		
						-					•
TUBING RECORD	Size	Set At		Packer	r At	Liner	-	Yes V No		-	
Date of First, Resumed F	NA Production, SWD or F	nhr	Producing Meth	hor				_ 100 \ NC	,		The second secon
NA: D & A			. roadoing well	100	Flowin	g [	Pumpir	ng Gas Li	ft Ot	ner (Explain)	
Estimated Production Per 24 Hours		Bbls.	Gas	Mcf	Wate	er	ВІ	ols. (	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF C	COMPLETIC	N	,		Produ	ction Inter	val .			
Vented Sold (If vented, Sun	Used on Lease		Open Hole Other (Spec	Pe	erf. [] [	Dually Co	omp.	Commingled _			
			(-/-	-,				-			

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS .67665 PH .(785) 483-3887 FAX (785) 483-5566

FEDERAL TAX ID#

KCC NOV 1 0 2003

RECEIVED

NOV 1 2 2003

CONFIDENTIAL

Invoice Number: 091170

KCC WICHITA

Invoice Date: 10/08/03

15-101-21817-00-00

Sold & Gas Company To: P. O. Box 784

Hays, KS 67601

(Surface casing)

Cust I.D. Lario

P.O. Number. . . Brand TRust #1

P.O. Date....: 10/08/03

AFE! \$03-073

Due Date.: 11/07/03 Terms...: Net 30

Item I.D./Desc. 19	y. Used	Unit	Price	Net TX
Common	210.00	SKS	8. 3500	1773 50 0
Gel		SKS	10.0000	1753.50 T 40:00 T
Chloride	6.00	SKS	30.0000	180.00 Т
Handling		SKS	1.1500	241.50 E
Mileage (55)		MILE	10.5000	577.50 E
210 sks 03.05 per Surface	5k per 1.00	JOB	520.0000	520.00 E
Mileage pmp trk	55,000	MILE	3.5000	192.50 E
Waiting Time	[12] [73] [7] [7] [7] [4] [8] [7] [8] [8] [8] [8] [8] [8] [8] [8] [8] [8	HOUR	그 이 가는 그는 그는 그 이 아니는 그는 사람들은 그 모든 것이다. 쌀사들에 다	300.00 E
Surface plug	1.00	EACH	45.0000	45.00 T
All Prices Are Net,	Payable 30 Days F	ollowing Subto	otal:	3850.00
Date of Invoice. 1-1	/2% Charged There	A = BB		127.17
If Account CURRENT to ONLY if paid within	ake Discount of S	Tayme	ents: I:	0.00
	20 July 2 Troil Tityo	TOO Dave TOLA	··· Reien	3977.17
	ı	1	MAR 1. 2	

FROM CONFIDENTIAL

OCT 1 4 2003

FORM #F9000 58276

and the contract of the contract of

ALLIED CEMENTING CO., INC P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX. (785) 483-5566 CONFIDENTIAL

FEDERAL TAX ID#1

NOV 1 II 2003

INV O

CONFIDENTIAL

Invoice Number: 091269

Invoice Date: 10/15/03

FROMCONFIDENTIAL

Sold Lario Oil & Gas Company P. O. Box 784 To: Hays, KS

15-101-21817-00-00

RECEIVED

NOV 1 2 2003

Due Date: 11/14/03 Terms ... Net 30

67601

KCC WICHTA

Cust I.D....: Lario

P.O. Number..: Brand TR 1-29 P.O. Date...: 10/15/03

AFE #03-013 (PAJ/Dry hole)

Item I.D./Desc. Ot	y. Úsed	Unit	Price	Net TX
Common	135.00	SKS	8.3500	1127.25 т
Pozmix	90.00	SKS	3.8000	342.00 T
Gel (*)	12.00	SKS	10.0000	120.00 T
FloSeal	56,00	LBS	1.4000	78.40 T
Handling	225,00	SKS	1.1500	258.75 T
Mileage (55)	55.00	MILE	11.2500	618.75 T
225 sks @\$.05 per	sk per mi			
Plug	1.00	JOB	630.0000	630.00 T
Mileage pmp trk	55.00	MILE	3.5000	192.50 T
Plug	1.00	EACH	23.0000	23.00 Т
All Prices Are Net,	Payable 30 Days Fo	llowina Sub	cotal:	3390.65
Date of Invoice. 1 1	/2% Charged Therea	fter. Tax		213.61
If Account CURRENT t	ake Discount of \$3	<i>939.0<u>6</u> Pa</i> yi	ments:	$\bar{o}.\bar{o}\bar{o}$
ONLY if paid within	30 days from Invoi	ce Date Tota	al	3604.26
				BP
		JOSEPH TAKEN BEST J.	TO THE PROPERTY OF THE PROPERT	OK N Pav

